nanosecond

615989 s: Mdev= 0.51114E-14 Tdev= 1818 ps
307995 s: Mdev= 0.62752E-14 Tdev= 1116 ps
153997 s: Mdev= 0.88438E-14 Tdev= 786 ps
76999 s: Mdev= 0.14264E-13 Tdev= 634 ps
- _ 38499 s: Mdev= 0.35721E-13 Tdev= 794 ps
01/05/12 ntscigrt55892_35.ppp_defaut+1d-15 16750 < Milou 0.61045513 Tdoue 678 e
9625 s: Mdev= 0.10120E-12 Tdev= 562 ps
4812 s: Mdev= 0.21388E-12 Tdev= 594 ps
2406 s: Mdev= 0.32224E-12 Tdev= 448 ps
1203 s: Mdev= 0.42962E-12 Tdev= 298 ps
602 s: Mdev= 0.59130E-12 Tdev= 205 ps

120 - - 301 s: Mdev= 0.64042E-12 Tdev= 111 ps
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